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1. What is the coordinate on the terminal side for 225o?

2. Find 
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3. What is the coordinate for 
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4. Find 
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5. Find the six trig ratios for 
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6. Solve 
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=

q

 .  Give your answers in both degrees and radians.

7. Solve 
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 .  Give your answers in both degrees and radians.

8. Solve 
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 .  Give your answers in both degrees and radians.

9. Solve 
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 .  Give your answers in both degrees and radians.

10. Solve 
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 .  Give your answers in both degrees and radians.

11. What is the coordinate on the terminal side for 
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12. What is cos 
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      What is csc 
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      What is cot 
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For each angle below, draw the angle to determine the reference angle.
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[image: image14.wmf]6

7

p





14. 
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15. 
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Find all angles in both degrees and radians.

16. 
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17. 
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18. 
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19. 
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Find the exact value of each trig. function.

20) 
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21) 
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22) 
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23) 
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24) List the six trig. ratios for 
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25) List the six trig. ratios for 
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26) Find all angles 
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 for each of the following:  

a. 
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b. 
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c. 
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d. 
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